System Components & Valves for hydraulics that has ultra-high working pressure
with maintained flexibility. Its low volumetric expansion give fast response time in
hydraulic systems while smooth inner bored provides a minimized pressure drop.




HPRIIEERE

PN SMREY

A TRIZAR 1

MRS, BERKD, BAMETRIELF, RUEER
Lh2D, M2, ERERK

BIRHE S WIRIN @IREE L

TR a1
RERNBHMREPAR, WMEIBHEMNSEMNLZ, WEINEHMEZPUR

HP703

HP706

HP709

HP713

HP716

HP719

© o w

70

70

70

70

70

EP RISERE

PSS MREY

A FREERK N

280

280

280

280

280

280

AR AD, BERKD, BAMETRNMELF, BUESER
TR, MR, ERFHK

BIRHE S WIRIR @R EIE

70

70

70

70

70

70

it
B

-40°C - +100C
-40C - +100°C
-40C - +100C
-40°C - +100°C
-40C - +100°C

-40°C - +100°C

RENEMRZEPOM, MEIRNEAGEENL, REIMNEMEREPA

EP703

EP706

EP709

EP713

EP716

EP719

EP723

EP726

EP729

180

180

180

250

250

250

300

300

300

450

450

450

625

625

625

700

700

700

130

130

130

175

175

175

140

140

140

G1/4"

G1/4"

G1/4"
NPT3/8"

NPT3/8"

NPT3/8"

-40C - +100C
-40C - +100C
-40C - +100C
-40C - +100C
-40C - +100C
-40C - +100C
-40C - +100C
-40C - +100C

-40C - +100C

IREXIHE
IREXIHE
IREXIHE

BERF

BERF

BERF
BETFFTR
BETFFTR
BETFRTR

SRASHI(HES
SRASHI(RER
SRASHI(HES
SRASHI{ERER
SRASHI(RER
SRASHI(HEF
SRASHI(RES
SRASHI(REZ
SRASHI(HER

35
U3

RERF

SRS RI(RER
REF IR
BABRER
SERER
FahRER
REALD

EEZDER
YRBIRER
FERIIRF

BRIRe
B R



TRIEE K

HZFIRE R

o hERETUIREER

s BRE. REKX

o HEWEER

o BESASHMIRERRRERL TR

H1 6.3 1/4" 16.1 70 220 SR -30C - +100°C RERF
H2 10 3/8" 211 70 185 ST -30C - +100C RET IR

CRINREZk

RERF
YRR RU(RER . EEgt
REFFIR

SRS o HEFFFNEIRET TR
SHRER o BFRME

FRBER s BRIRSHIERE
LD

LS ER

BB

BAHRE

BRRE

PR
cs8 4 25 72 216 WML, RERERFUMCIRE -30C - +100°C BERF

C16 25 6 150 300 TSN, REREhFELIRET -30C - +100°C BERF

KRS EIREREZ

- BSE

o REENGIT

o IiFEEH

o BFFFIER TR

K16 25 6.0 150 300 EMLIN, RERERFEfCEEEY -30C - +100°C RIS RI(RER
K20 25 5.8 200 400 TR, BEEhE s -30°C - +100°C SRS HI(ER
K25 25 5.8 250 500 TSR, SBEEEh IR -30°C - +100°C IR hI(ER

K30 25 5.8 300 600 B, REBLE -20°C - +80°C YRS RI{RER



GRIIENER

BE=#R~163mm, 100mm. 160mm

ZIE1000bar (100MPa) to 2000bar(200MPa)

iR igit

BIREBMEERER
MBEATHEN

G1

G2

G3

G1/4"

G1/2"

G1/2"

oD

GSARIIENRKRE

BERESENREBLS
B SK U 4R TR U BH L

B K Ui i 4 e R B R R Sk
BoROBAEDREL

GSA-1

GSA-2

GSA-3

GSA-4

GSA-3H

GSA-452

GSA-453

1/2

1/2
1/4
1/2
1/4
1/4

1/4

¢J

EAR

55.3

86

n7

w
|
A
L. .
13 14
20 22
20 22

5.6 28 10 62.6 68
13 48.6 15 101 110.6
15 50.5 15.5 149.6 161
SrPe E
P o & e (@]
A
3/8 3/8 7 31 1/2NPTF
3/8 3/8 155 35 1/2NPTF
3/8 3/8 133 48 1/4NPTF
1/4 3/8 m 35 1/2NPTF
3/8 3/8 90 28 1/4NPTF
1/4 1/4 50 - 1/4NPTF
3/8 3/8 50 - 1/4NPTF

B

C -B.

I N n‘\\‘

DHIIE'EEE%&%;

A

3/8NPTF 3/8NPTF
3/8NPTF 3/8NPTF
3/8NPTF 3/8NPTF
1/4NPTF 3/8NPTF
3/8NPTF 3/8NPTF
1/4NPTF 1/4NPTF
3/8NPTF 3/8NPTF

= @r

32
32
32
32
26
38

38

REIRTF

RIS HIBE
HEF I
BARER
SRBER
FARER
REHD

EZS B
B SRIE
FANIRT

BRI
FrtARE



RERF

SRR RI{RER
REFFIR
RRRER
SERER
FRER
REALD

HE=OER
IR
RERIRF

BRRE
FrtARE

¥eigsk

SFAZRTI¥iEX

SHRLGERTR

it R i%it

SHBHA A THIERE
RRLGEECHETFN

SFA1201

SFA1202

SFA1203

SFA1204

SFA1205

SFA1206

SFA1207

SFA1208

SFA1209

G1/4"

G1/4"

3/8"NPT

G1/4"

1/4"NPT

1/4"NPT

3/8"NPT

1/4"NPT

3/8"NPT

M2215 M16*1.5

M16*1.5

3/4"-16UNF

NPT1/4"

NPT3/8"

G1/4"

G1/4"

G1/4"

G1/4"

G1/4"

M16*1.5

G1/4”

NPT1/4"

NPT3/8"

G1/4"

NPT1/4"

NPT3/8"

M16*1.5

M22*1.5

M16*1.5

3/4"-16UNF

38

37.5

48.5

17

21

17

17

22

27

21

NPT1/4"

NPT3/8"

G1/4"

G1/4"

G1/4"

G1/4"

G1/4"

M16*1.5

G1/4”

NPT1/4"

NPT3/8"

G1/4"

NPT1/4"

NPT3/8"

M16*1.5

M22*1.5

M16*1.5

3/4"-16UNF



SFZ &5k

o SHIRLUERSN
o R
o SHEHAAAMIERE

SFZ-1610
L
SFZ-1638
SFZ-1612
TEIEL
SFZ-1637
TRIEL SFZB-16312
REEE 25 SFZ-1613
SFZ-1614
WLAF e
SFZ-1605
SFZ-1615
BEWLAF _
SFZ-1625
RINF T K SFZ-1616
SFZ-1641
SFZ-16421
gk
SFZ-16323
SFZ-16324
SFZ-1630
SFZB-1630
) _—
SFZ-16301
SFZ-16302

¥eigsk

A
d 3/8"-NPTF &  3/8"-NPTF& 35 225 3/8"-18NPTF -
| .
0 B
it 1/4"-NPTF 8  1/4"-NPTF8 35 225  1/4"-18NPTF -
-
_C
fu L 3/8"-NPTF &  3/8"-NPTF& 45 25  3/8"-18NPTF =
B == ._‘_..._ = C
= Bt = 1/4"-NPTF & 1/4"-NPTF B 45 25 1/4"-18NPTF = RERF
AT BRiSHIfhEe
BETF TR
- A BERER
i =3
o E 3/8"-NPTF &  3/8"-NPTF 4 56 26  3/8"-18NPTF  3/8"-18NPTF SHBER
FHBRER
WERD
BEOHER
LEAS TR
3/8"-NPTF 8  3/8"-NPTF& 45 25  3/8"-18NPTF = FERNIRT
BRI
BrFAZAE
3/8"-NPTF &  3/8"-NPTF& 29 26  3/8"-18NPTF  3/8"-NPTF
1/4"-NPTF 8  1/4"-NPTF 8 29 19 1/4"-NPTF 1/4"-NPTF
3/8"-NPTF &  1/4"-NPTF& 28 25  3/8"-18NPTF  1/4"-18NPTF
1/2"-NPTF 8  3/8"-NPTF 8 47 29 1/2"-14NPTF  3/8"-18NPTF
3/8"-NPTF 4t  3/8"-NPTF& 23 33  3/8"-18NPTF 3/8"-18NPTF
A 1/4"-18NPTF 2 Gl/4" 8 35 19 1/4"-18NPTF G1/4"
= 1/8"-27NPTF 23 Gl/4" 8§ 31 19 1/8"-27NPTF G1/4"
s =i
= 1/4"-18NPTF 4 G3/8"8 43 24  1/4"-18NPTF G3/8"
B
3/8"-18NPTF 2 G3/8"8 43 24  3/8"-18NPTF G3/8"
1/4"-NPTF 8  3/8"-NPTF 4 19 19 1/4"-18NPTF  3/8"-18NPTF
1/4"-NPTF 8  1/2"-NPTF 2 28 22 1/4"-18NPTF  1/2"-14NPTF
G1/4" &  3/8"-NPTF4# 19 19 G1/4” 3/8"-18NPTF
3/8"NPT & 1/2"-PT4 35 27 3/8"NPT 1/2"-14PT




